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IHE(F) #wmIE(E) EIU(0) =F(V) FEEI(H)
#include <stdio. h>
#include <{string. h>

int main(int arge, char *argv[]) {
if (arge '= 4) {
printf ("what?\n”) ;
exit (1) ;

}

unsigned int first = atoi(argv[1]):
if (first !'= Oxcafe) {
printf ("you are wrong, sorry.\n”):

exit(2) :

}

unsigned int second = atoi(argv[2]):

if (second % 5 == || second % 17 != 8) {
printf("ha, you won’ t get it!\n”):
exit(3) :

if (stremp("h4ckyOu”, argv[3])) {
printf(“so close, dude!\n”):
\ exit(4) ;

printf ("Brr wrrr grr\n”):
unsigned int hash = first * 31337 + (second % 17) * 11 + strlen(argv[3]
printf("Get your key: 7):

printf ("%x\n”, hash):
return 0;
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KGRI, FHREH, faghiiZst &RURprintE S fhash. AT iHE Hihashifi, RATBFHRBfrst. “second’.
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4. it & hash
SH&F, UG EhashiE T -



first = Oxcafe #Z5—
second = 25 o
argv = 'h4dckyeu' #ZH(=
# len(h4ckyeu) = 7

hash = first * 31337 + (second % 17) * 11 + 7 - 1615810207
print(hex(hash)

5. AH4E R
wiE, BHER:
Oxcoffee

B AR, R RO %ox, Rl b b AR T hex(hash), EL#EHIH163EHI R, BIANRASE R,
flag:A: flag{cOffee}.
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